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Guess Paper 2010
SUBJECT – Mathematics 
Class – XII

      STD: XII                                                                   					Marks: 100
      Date:                                                                       			Time: 3Hours
General Instruction
1. All questions are compulsory
1. The question paper consists of 29 questions divided into three sections A,B and C. Section A are of  One mark each, Section B are of Four mark each and Section C are of Six mark each.
1. All questions in Section A are to be answered in one word, one sentence or as per the exact requirement of the question.
1. There is no overall choice. However, an internal choice has been provided in 4 questions of four marks each and 2 questions of six mark each. You have to attempt only one of the alternatives in all such questions.
Section A
1. What is the principal value of 
1. 
If f(x) = x +7 and g(x) = x – 7 and xR find (f og)(7).
1. Find the value of Sin3 – sin-1(-1/2)
1. 


Find the value of x and y if 2 + = 
1. 
Evaluate 
1. 

Find the co factor of  in the following 
1. 
Evaluate 
1. 
Evaluate 
1. 



Find a unit vector in the direction of =+4+2
1. 









For what value of  are the vectors = 2++,=-2+3 are perpendicular to each other.
Section B
1. 
Show that  the relation R in the set A = {x }, given by  R = {(a, b) : |a – b| is a multiple of 4} is an equivalence relation . Also find the set of elements   related to 1
1. 
Solve the equation 
1. 
Let is continuous at x = 4, find a and b
1. 

If ,find     OR



Let , show that (1 + x2) +x= 2
1. 
Using properties of determinants prove that =2abc (a + b+c )3
1. 


Prove that y = is an increasing function of  on [ 0,  ]
1. 
Find the equation of the tangent to curve y = cos(x +y) -2 that are parall to the line x+2y =0.
1. 
Find   ∫ x sin-1 x dx                       OR .            
1. 
Solve the differential equation    OR


Solve the differential equation + , y(0) = 0. 
1. 















If ,, are unit  vectors such that == 0  and the angle between andis  , prove that  = (x)
1. Find the equation of the plain passing through the points P(1,-1,2) and Q(2,-2,2)and   perpendicular to the plane 6x—2y + 2z = 9.
1. Suppose 90% of the people are right handed. What is the probability that at most 6 of a random a sample of 10 people are right handed?
						SECTION C
1. 
A = ,find A-1 . Hence solve the system of equations. 4x + 2y + 3z = 2,  x  + y + z   = 1, 3x + y -2z =5
1. Given the sum of the perimeters of a square and a circle, show that the sum of their areas is least when the side of the square is equal to the diameter of a circle  OR

Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is   of the volume of the sphere
1. 
Find 
1. 


Find the area of the circle x+y=16 which is exterior to the parabola y=6x
1. Find the distance of the point (-2,3,-4) from the line  =  = ,measured parallel to the plane 4x + 12y – 3z +1 = 0.    OR
Find the image of the point (1,2,3) in the plane  x +2y +4z = 38
1. Bag I contains 3 red and 4 black balls and bag II contains 4 red and 5 black balls. One ball is transferred from bag I to bag II and then a ball is drawn from bag II. The ball so drawn is found to be red in colour. Find the probability that the transferred ball is black
1. Kellogg is a new cereal formed of a mixture of bran and rice that contains at least 88 grams of protein and at least 36 milligrams of iron. Knowing that bran contains 80 grams of protein and 40 milligrams of iron per kg. and that rice contains 100 grams of protein and 30 milligrams if iron per kg, find the minimum cost of producing this new cereal if bran costs Rs.5 per kg and rice costs Rs.4 per kg
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